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Mathematics
at Charlestown
Primary School

(and school

Improvement

update)




What does mathematics look like at Charlestown?

With the aim of
ensuring maths
IS enjoyable and

accessible for all.

{8

O Follows the National Curriculum

Oun

Year group objectives

Oun

Mastery implemented and embedded




What is mastery?

A mathematical concept or skill has been mastered
when a pupil can:
represent it in multiple  ways (breadth),
has the mathematical language to communicate
related ideas (depth),
can independently apply the concept to new
problems in unfamiliar situations.




How Is mastery achieved?

- Pupils are given time to fully understand,

- explore and apply ideas, rather than accelerate

- through new topics.




SEVY M7 Y reres

—~

Concrete —— Pictorial

Pictorial is the
JcuUUYaUK
Here, visual
representations of

Concrete is the
JoavyaUK ¢
During this stage,

students use
concrete objects to

used to model
model problems.

problems.

concrete objects are

—— Abstract

Abstract is the
Jci adaayx
where children
use abstract
symbols to model
problems.







EYFS and Year |

Concrete

Pictorial

Abstract

Combining two parts to make a whole
(wse other resources too e.q. eggs, shells,
teddy bears, cars).
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99
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Children to represent the cubes using
dots or crosses. They could pult each part
on a part-whole model too.

b + 3 =17
Four is a part, 3 is a part and the

whole Ls seven. o

Ccrun.lin.g on using nuwmber lines wsing
cubes ar Numicon e.q. b o+ 2

e

A bar model which encourages the
children to count on, rather than count
all.
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The abstract number Line:

What ts 2 more than 47

What is the sum of 2 and 47 What is
the total of & and 27 & + 2
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Regrouping to make 10; using ten frames
and countersfcubes or using Numicon.

& + 5
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Children to draw the ten _fr-:.m.e and
counters/cubes.

i

Childrer to d'.eveinp L umier*st-:.n.d.ing

of equality e.g.
6+0=11

6+5=5+0

6+5=0+4
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Fluency — Reasoning— Problem Solving

Reasoninggives Problem solving is the
Fluency refers to mathematics purpose, side of mathematics

knowing key direction and depth. that enables us to
: If a child can reason apply the skills in a
mathematical

they can justify wide variety of
facts and y . ’ situations. Problem

generalise, prove, solving gives students a
methods and explain and explore; in
context to help them

recalling these essence, they can make sense out of the

efficiently. make sense of mathematics they are
mathematics .

learning.




Years 3, 4, 5 and 6

Concrete

Pictorial

Abstract

Use of place value counters to add HTO
+ TO, HTO + HTO ete. When there are
0 ones in the ls column- we exchange
for | ten. When there are |0 tens in the
|05 column- we exchange for | hundred.
e.q. 243 + 368

100s | 10s 1s
e =50 1000
— o0
00 S 00
: | ©0
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This method wouwld bhe extended to

addLn.g _fnu.r dith numbers in Year &
e.q. 5678 + |235

® 00
o

(Thiz shows how the
chart wouwld lock
after each column
has been added
and exchanges have
happened )
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In Year 5, the chart wowld be extended
to five and six digit numbers including
decimals.

Columns to allow numbers up to 10
million and decimal numbers up to three
decimal places would be used in Year 6.

Children to represent the counters in a
place value chart, cireling when they
meake an Exch.an.ga.

This method again could be developed
for Years &, 5, and 6 by introducing
more columns and eventuwally a decimal
point. Children will need to draw their
own place value chart with the number
and format of the columns determined
by the numbers that are being added.

Formal written method

243

+368
611
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0 = 5 3
1 = 2 |
+ 0 « 2 0
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EYFS and Yenr |

Year &

Alison jogs 6,860 metres and Calvin
Jegs 5,470 metres. How far do they
Jjog altogether?

Word problems:

In year 3, there are 2|
children. and in year &, there
are 34 children. How many
children in total?

21 + 34

55, Prove it

21 + 3&

Year 2

Helen has 14 bread-
sticks, Her friend has
17, How many do they
have altogether?

McDonalds sold £957 68 worth of
hamburgers and 1238.50 worth of
chicken nuggets. How much money did

they take altogether?

?

6860m 5470m

£123850

21 :_
+34 |
21 + 34 = Missing digit preblems:
o= 21 + 34 10s 1s
. .' n
Calculate the sum of twenty- J] 7
one and thirty-four. ? 5

Year 3

A man sold 230 balleons at a carnival in the morning.
He sold another 86 balloons in the evening . How
many balloons did he sell inall?

Moming &Rersoon

Yonr &

Jock went on holiday. His flight cost £70.50,
the hotel £1295 and spending money £427.89.
How much did Jack spend on his holiday?

7

£70.50 £427 88 £1295




Bar modelling

I have 6 red pencils and 4 yellow pencils.
How many pencils do I have? ?

6+4=10 (




